Optimization HW

i Find two positive numbers such that the product is 48 and the sum of the first plus three times thte second is a
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2. A box with an open top is to be constructed from a square piece of cardboard, 3 Le_e’c—wid& by cutting out a
square(x) from each of the four corners and bending up the sides. Find thellargest volume that such a box can
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What if the volume of the box is to 1.5 feet?, find the value of x. L& viy SF volewe LS @

Lece od r;‘}.-cch > Wwan Sy = 1S 63 ?
&: 0,254 ¢ AS H. %A
3. A box with an open top is to be constructed from a rectangular piece of cardboard, 6 feet by 4 feet, by cutting
out a square (x), from each of the four corners and bending up the sides. Find thr—.(/la[gest volume that such a
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What if the volume of the box needs to be 6 feet’, find the value of x. ‘ P R 5
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4. Four pig pens will be built side by side along a river by using 150 feet of fencing. Whafidimensions ;’ayill maximize
the area of the pig pens? (Hint: One is of the pens will be the river)
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